B ERAOBEEICTDNRHAEIRE T & R BT (ESD)ORET RIS 1 M4 4]

H31/06/13

BHNAT—Y T ATENAFHDEATSNIRIRESIE(A) 146 5| 0 0 7] - 2| 0 0 12 4 0 5| 4 33| - 2| 0 6| 6| 2| - 7] 0 9| 0 1 8| 1" 0 8| 4 2| 0 - 1 2| 0 0 1 3| 1
55, NARSEHHEIE T /& RIBE T (ESDSBATIEFIZR(N) 100 4 0 0 6| - 0 0 0 9| 4 0 5| 1 23] - 2| 0 2| 6| 1 - 4 0 2| 0 0 8| 8| 0 8| 1 0 0 - 1 1 0 0 1 2| 1
é’ﬁ}/ﬂ)ﬁ%ﬂﬁ?éﬁﬁﬁﬁ‘]ﬁﬂﬁ?ﬁiﬂﬁiﬁ(ESD)mmﬁ 685 800 | N/A| N/A|[ 857 -| 00| N/A| N/A[ 750 1000 | N/A| 1000 | 250 69.7 -| 1000 | N/A| 333 1000 | 500 - 571 N/A| 222 | N/A| 00| 1000| 727 | N/A| 1000| 250 00| N/A| -| 1000 | 500| N/A[ N/A| 1000 | 66.7 | 100.0

S

BHADQBEIZHT SARMAIHIE T RRIBEH(ESD) O HE1TE

H » B v ik A k4 E = * b I % Al g g & B4 R @ # #; R A il @ H Eil # L] L3 & n il il L F B2 S £ ®
1 & v e ) & * R * I & L] E3 L] s i # H % ::) B N 2 = i3] & #* L i ::) % 2 o % B i 23 M 23 =l 5
T & WU 5 I “® # x @ E = # 1 = # ] x @ x = i 2 = E i 5 L ® 2 = | i i B ] # I & % B @
o N #®M3 B Y & B [ & # B I R £ ] Fi] ) & * [ & & [ # B & i in & [ X = & = = 3 k) = - i &
L # R b L & = & -3 " i & # = & & = 3 3 t % = il B2 = & 3 [ [ L [ = = &
-3 [ S -3 -3 [ -3 [ 3 3 & [ 3 3 # v - [ B2 [ B2 3 [ & 3
* a8 b 8 L b B
#H R [ = [ [
[ [
mm BAA(RT— 1A TENAFIA BTSN IHBIREIR(A) - 5%, B RIBE 7 (ESD) SEATIE BIER(A) —— BrADBEICHTHN & RIBE 7 (ESD) D HEAT 38(%)




